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We promote him - 7% J9pon AN

OVERVIEW

Our X713 states that if it is a case of *2NM >N concerning a possible 7w 13, the
ruling is that we elevate him to 71172 status. Our M901n will discuss and explain the
different rulings concerning >2n1 *n.

— NYP )19 1ANT 1D PININT NIPINNR RI2) YPINY 299 Y112 91 YPINT
For we place the two 2>7v who are 2019 against the two 0>7v who are °won; thus
effectively negating both groups of 2>7v and the person is placed in his original

presumptive status; for it is presumed by 7"2 that his father is a Ww> 73;
therefore the son is also a w2 1.‘!3.1

mooIn has a difficulty with this resolution of *3m "n; that we revert to the M w> npin of the
father:
— N8I XD W12 79190 IR 22) (3,10 91 PYITPA 9MINN P92 12999INRT NN

And this is astounding! For the X711 states in “%W7 P92 in PRY7TP NOON
concerning King 8. There was a controversy surrounding the (79173) mnid of
Toni X1, There were rumors that his mother was in captivity among non-Jews;
thereby making *X3> a 921 who is 123732 205, The 05n ‘suggested’ to °X1* that he
give up the 711772 on account of these rumors. The 0°»5m there continue to relate that
the matter concerning her captivity was investigated and the rumor could not be

substantiated. The X n3 there asks:

— INANYIN XY 919N 295 INANYIN Y9N Y9NT NIIYIIN T ¥
How is this that the rumor could not be substantiated, and °X1> was vindicated;
could we say that two 07V claimed that she was in captivity and two other 07y

claim that she was not captured; this cannot be, for it is —
— NN XD ONSINY AN TIND 1NN NINDT NN NN 1N 29, 299

Two witnesses against two witnesses, why do you see to depend on these o7V

" The above is (somewhat) excerpted from the interpretation of the 0"2wA here and *"w9 in 2,55 77 M213. However
they maintain that the N17w2 np1i is (also) based on his status after the first 7°woni 7 testified; not (only) on the npin
12X as Moo states. See ‘Thinking it over’ # 1.

* A Jewish woman who had relationships with a non-Jew is considered a ;17. She is forbidden to marry a }72. Any
child she has from a 773 is considered a 971, who is 727757 2109. A woman who was held captive among non-Jews is
considered 112777 as a 1111, regardless whether it is known for sure if they had any relationship with her. See footnote
#10.
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who claim *XanwX X7 and are vindicating °X°, depend on these 2>7v who claim
"RanwR; therefore, continues the s'®n3 question ‘so why did the o12n say that
nothing could be substantiated’! Since it is > m ", it should be considered a pod and X1’
should be 11713% 909, Why did the o°non insinuate that nothing was found that could invalidate

sk from the 771175?! He should be 105 on account of the 01 »7n. This concludes the citation
from the X773 in PYITP.

mooIn concludes his question:
— YPINNR NI2) PINY 291 2112 599 SPIN 9199120 19 1N NATIN 7999 NP INN RNYM

But now according to the interpretation presented in the beginning of N901n that
by 7m N we maintain the original M w> npin, then what is the challenge in
TWYTR nNoon as to the status of °X1; that he should be %109 by > 70, on the
contrary! It makes sense why °X1* was vindicated, for we should maintain there
just as we say here, that we place two 2’7V against two 07V and we place the

person on his original 7117; which means —

— >INANWIN NIT NN NPINNR INI® YPIN)
And we should place 581 based on the 71211 of his mother that she was not in
captivity.
mooIN question is; just as here the 0>7Y concerning Aw173 12 cancel out (it is >N N) and the son
is a w2 172 based on the M w> np1n of his father; similarly by X1 the 2>7v of "X2anwX cancel out
(>3m n). There remains the MWw> NP1 of the mother. *X3> should be w2 on account of the npin
M w> of his mother. In both cases neither son (°X2* nor the s'175 son) has a mMw> NP of their
own; only from their parents. The ruling should be the same in both cases. If the m17w> np of
the parents applies to the son, then X1 is w>. If the mw> npin of the parent cannot apply to the
son then the s'3772 son should also be 7109.

moon will now cite how *"w7 explains the X713 there in PYITP:
— NI NIN 9PVWHNY NN KXY ONN NPINT DIVNPI ONNH YWD

And "1 explained there in 2172 noon the reason we do not follow the a7 NP
concerning *XI°, is that the 7P of s"X1> mother cannot be applied to validate

SN for 1m0 -
— NI DY 1IYNY NON 139195 ONN NN HIVAY PN 01Y PRY 29Y

Because the witnesses who claimed *X2n?°X are not coming to invalidate the

3 $"X mother was certainly not in captivity prior to the date which the rumor alleges she was captured. Therefore,
since there is a "M "0 whether or not she was in captivity, we place her on her original 7P that she was never in
captivity.
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mother for 71170 status but rather they came to testify against X2 that he is the son
of a maw. The status of the mother is irrelevant here. The mother is not present. The o°7¥ are
stating that *X2* is a 72w 12; and X2 has no nw> nprn.*

mooIN rejects this interpretation of >"wA:
—)ab ONN NPIN DY KD NNT PHN 135299 NN PN)
And the °"1 is not satisfied with this interpretation; for why should not the npsn
an:7 apply to the son as well —
—9Y5 130 7PN XY ONX NIYI ONN XNINY N1PNY 5129 19N DINN
Since it is impossible that the mother should be a ;79w> unless the son is also
2. If the son is not "w> since he is a 7™M2W 13, then the mother is automatically a 72w. Md0IN
argues that we cannot separate the ax7 MIw2 from the (°X1°) 127 MAW2, since they are dependent
on each other. Therefore it does not matter what the intent of the 0>7v are; whether to testify
concerning XY’ or his mother, in all cases the status of the oX and the 72 are to be the same. The

mother has a mWw> npin; therefore we cannot be Y019 the son, whose status is linked with his
mother.

mooin does not agree with the reasoning of *"w7 and will now show that it also
contradicts our X3
—19°W57Y ANN NPIN DY NXINN DAY YN 12N YT 2) DY GN NINT T

And furthermore there is a difficulty with >"w9, for here in our X723 even though
the 0°7v are testifying to be 210 the son and not the father (similar to the case of

°X1* and his mother), nevertheless the 512117 of the father helps to be 9sw>% the son.
Why therefore should it be any different by *X1* and his mother?!

mooIn offers his explanation:
- (90 PNINN T OV NS 9T IR PHN 7T P93 139P0N1T DIVNA KNPV 13917 PNY 139390 NN

And it seems to the ''9 that this is the reason why there is a difference between

our X113 and the case of °X1°, because the X3 concludes in 318 '7 P99 -
— 19397 NP2 M1 M) 'ONMI *)3297 KPIOD NN ¥9M 299 Y51

5"y does not attempt to distinguish between our X3 (where we do follow the original 7pin) and the X3 in wTp
(where we do not follow the aR npii). There is a distinction however, for *"w2 maintains that the reason the son of
the 772 is assumed to be a 775 (is not merely because of the n1w> npin of the father, but rather) because there is
(also) a mw> np for the son, based on the testimony of the first 7*wani 7v. See previous footnote # 1.
> See previous footnote # 4.
® maoin (seemingly) does not mean that >0 >0 is a 131377 XP°50 in the usual sense (where we say X197 131277 Rpp°5D),
but rather that the P50 is 113773, Therefore if the issue at hand is in a Xn>»7X7 it will be X177 and by a 71277 it will
be X71p% as nwoIn shortly states. See ‘Thinking it over’ # 2.
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That every case of 01 530 is a 11397 Xp°29, and [there] (by the mother of °X2°) it
is also a 33297 XP5®. According to 770 law if it is a >3m "0 we follow the original 7p1m;
however the 2°n211 decreed that even if there is a 907 NP by a >M °7n, and 7707 12 it should be
ann, nevertheless we treat it as a P90 and we take the more stringent view (if it is an MOX
RNMTIRT).
— AN TIND ONN 799 91
And therefore the X712 there in 72177 challenges the assumption that the rumor
could not be substantiated; saying, depend on these o°7v who testify that *Xanwx —
— APINR NHNNX YPINY 295 2702 299 YPIN 13299NR NNNINTNIT »N)T
For granted that according to 770 law we rule that we place the two against
the other two (as if they do not exist)’ and we place the woman (s"X1> mother) on
her M17Ww> NP1 which would make 7197797 w3 "X —
— NYD19Y Y’ 13297 0PI Yan
Nevertheless, she should be considered 32777 9195, Therefore the X113 says we should
be 17X 71M0; that she is 2109 as if we pay attention to the 0°7v that claim *Xanwx.

The question remains, however, why in our case do we bestow the 287 npin to the son, even
though here it is also M >7n; he should be 132971 711752 9109! MDOIN explains:

- 911";7?1'\2% NPINDY 29, Y9N3 N2 I1NND IYIPN 1297 NN PIYY XOM
And here in our X7 they were lenient since the discussion here is merely
concerning a rabbinic 72190, not a XN*7MKRT 770 therefore they were lenient to
permit him to eat this 13277 770 in a case of >0 M and to establish the son as

a w2 1770 based on the 1P of the father.

In summation: According to MaoIN in a case of *IM "N, then XN»7X7A the ruling would be that
apnR PR, If there is a an°n npin then it would be 7 (however if there is a M0°R NP1 then it is
a MoK X7, not a Mo X Po0). The 1127, however, decreed that by 3n 30 even when there is a
7N’ np1n, nevertheless we prohibit it paon. This ruling applies only if the M0°X in question is an
XN™MIIRT MO°XR (as in the case of *XY1, where a 2717 is 7337707 9109 and is forbidden Xn>Ix77 for all
anmo functions),'® however when the Mo°X in question is merely an 13277 MOX (as in our X723,

’ Others amend this to anm instead of oxm.

¥ If we were to maintain that by n™n it is considered as if both 07y are testifying; it would be quite difficult to

understand how the 7ipi can outweigh the status of the 07y (that contradict the 71r7). However if we maintain that

n"n is viewed as if the contradictory 07y are not present, then it is understandable that the P11 can decide the case

(for no 0*7¥ contradict it).

? See “Thinking it over’ # 3.

0 In the case of *x¥ it may also be considered only an 71277 T0°K, since the 7™M2w TO°X is an 71277 MNOX (see

footnote # 2). Nevertheless on the possibility that she was 77v21, then (s)he is X777 7337797 MoK, In our case of
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where we are discussing whether the son may eat 7177 1212 72170 which is only a 712771 72170),
then we revert back to the 770 ruling, namely that by >m "n we follow the original nw> npim.
This follows the general rule that X277 Xn»RT Xp°50 and X21p2 13277 Xp*O0.

mooIN anticipates a difficulty with the idea that >3m »3n is merely a 71277 250 however 7707 7
we follow the fpin:

— 215 NI NXY D¥IIIN /2) H1I DIININ DY DY 9NINT N
And concerning that which the X713 previously stated in the case where two 27V

said that he died and two 2’7V said that he did not die, etc., the ruling there is that
initially she should not remarry -

— M'R¥N RY DY1Y INA 9 INN) NINYI YN
however if she remarried and then the 2°7¥ came and claimed that he did not

die, then everyone agrees that she need not leave her new husband —
— N1 19297 NP0 59 Y917 2 Y 9N

Even though that a0 1 is merely a 312977 PB®, as previously explained -
— YN NUN RNHNT APINN NNPIND 19 51X RNIINTNDY

And according to 70 law, however, it is required that we should establish her

status based on her original 5121175 that she was a married woman —
— 11 THANRY NRVIY 29 DY N NRYY 1D 1Y

And she should be required to leave the new husband even though she
remarried to one of her witnesses who is certain (as she is) that her husband died.

If we were to maintain that >3m °7n is a 77107 12 P90 and we do not accept any 7P to resolve this
Po0; but rather the P90 status remains by M »n,'? then we can understand that X 3. There are
™M U7N; it is a WX NWX 90, so 72 will not permit them to marry poon. If however they are
already married and the new husband and wife both claim that they are sure the husband is dead,
then since they were only 710X to marry oon, therefore this poo that 7"°2 has is not sufficient to
revoke their marriage, since they are *X71 that he is dead.

However since we are maintaining that Xn» X7 by M n we follow the original [pim,
therefore this woman is & nwX np1n2 from her first husband and is 7707 12 7OX to remarry.
How can we allow them to remain married just because they claim X712 that the husband is
dead?! How can their *XT) remove the 7790 Mo°X that was created through the mo°x npin?!"?

11277 7170, it is always only a 7127 question, never a Xn»7K7 issue.

"' See “Thinking it over’ # 4.

"2 This view may be seen as being supported by the X3 in P@7p concerning *X>. The Xm3 there says 37X 710 (on

those that are 70X), even if there is a N7 NPT,

" Tt is understood that even though the oon said that *3m >0 remains a P50 and we do not rely on the 7pIm;

however that is only if there is a °n°7 npn. Then the o 51 decree that even though Xn»7X77 it is N on account of
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Mo0IN answers:
— VIR YR HPIN DY) N2V XP1TT DPITN NIRRT ON 12729 99N

The n''9 says that here it is different, for the pn that a woman is meticulous in
first assuring that her husband is dead and only then does she remarry; this 7P

comes and undermines the w8 nwWX NPA. The WX NwX npin is not powerful enough to
create a Mo°X npin. There is an opposing 7ptN. The fact that the woman is remarrying and
claiming that she is sure her husband is dead weakens the ¥°X nwX npin. A woman will not
remarry if she is unsure of her (original) husband’s status. She does not want to transgress the
YR NWX T0°K; she does not want her children to be o etc.; in short a woman will only
remarry after a meticulous search that assures her that her husband died. This P11 counteracts
the w X nwX npin. Therefore if she remarried it is only a M0°X P90 to 7"°3, therefore X¥n RY.

moo1n challenges this previous assumption that there is a X20111 Xp>77 NPIM:
— 119102 99N NIPTT RP*T XD D7Y /2 NIIN 3 91NN ON)

And if you will say; if there are two 2°7¥ who testify that her husband died, then
she is not meticulous in verifying that her husband died, for subsequently there
is no stringency —

— 19 NN NIMN MY XDV NNRY) (0w 3,19 97 ow) N2 NYNND 9INT
As the mwn states in 7729 w3 P79, if she remarried without requiring
permission from 7"2 (in a case where 2°7¥ testified that her husband died), and

then her original husband returned she is permitted to return to her original

husband.
— 0YTy¥2 AINVIV 1 NT ONN Y99

And the X3 explains there that the meaning of the term mwn2 R>w nXw1 is that

she remarried based on the testimony of 2%7¥ who claim that her husband died. If only
one 7V claimed that her husband died then she requires a (special) 7"°2 MW" to remarry (since
7707 M two 7Y are required to testify). 7"°2 grants her this MwA with a provision that if her
husband returns then she will not be able to remain married to either of her husbands and will
lose her monetary rights, etc. This ensures us that she will be meticulous before she remarries.
However if two 077¥ testify that her husband died, then she is permitted to remarry without any
specific 7"°2 mwA. If her husband returns we are not that strict with her; including that she may
return to her previous husband, and retains her monetary rights.

mMdOIN question is that since there are two 0¥ who testify to her husband’s death,'* therefore

the 207 npin, nevertheless 112777 it is MOX. However if XnX7n it is 710X because of the M0 X npin, then the 1127
will certainly not say that it is only a 50 (and it should be 1mn!??)!
'* The question (seemingly) becomes stronger since Moo is discussing the case of 0*7y X2 2"NXY NXW3, at the time
of her remarriage there were only the 0°1°nni7 0°7v. She is certainly not 2011 Xp>*7. See footnote # 11.

6

TosfosInEnglish.com



1IX 77"7 '01N X,2% 22 .7"02

there will be no 719102 . If there is no 719102 "M, then there is no X201 RP*7, since the
woman is not that concerned. If there is no X201 Xp>7, there remains only the w X nwX npin. If
there is a WX nWR NP1, how can she remain married in face of this ¥R DWR NPIR, since RNMRTA
we follow the 73111 in a case of *n "n?!

modIn answers:

-n5Y %93 MYoa hbya NN TN DX XININ KIX AT NN AT DIYININ DIRIN 95 Y
And one can say that since the two groups of 2°7v contradict each other,
therefore there is the same stringency here as if she would have remarried 7"2 mwa2
if she will remain with her new husband based on her claim of certainty that she
knows for sure that her husband died. 7"°2 is lenient with her only if she remarries on the basis of
the testimony of two uncontested 2>7v. If however, the 0’7y are eventually contested, and she
remains married on the basis of her assuredness, then she must face the consequences, if it turns
out that she is wrong and her ‘previous’ husband is still alive. Therefore by M *2n she will be
X201m1 ®pP»7, since there is a Moa X . This X20111 Xp»7 cancels out the nwX W'k npri. The
woman’s status is only a Mo°R 50 at most. If she claims *% 13, then 7"°2 cannot separate her
from her new husband.

mMooIn has an additional question:
— YN XY D299IN /2) HYIINI DIININ 72 9NN ON)

And if you will say; in the case where two 2°7¥ claim that she was divorced, and

two other 297¥ claim that she was not divorced -
— NPT KXY NN D27 1IN 75 9NN NNYIA NN ND INNDN

Why is she not required to leave her new husband, in a situation where she first
remarried based on the testimony of the first group of 27V, and afterwards a
second group of 297¥ came who claimed that w901 X?. Why does the &n*92 state

that she need not leave!? For she is not meticulous in the verification process, in a

contested divorce case —
— N0 NOW DN YT NI NNY ANIIY RPITT NIN NN X1

For it is specifically only by a claim of death that she is meticulous in verifying
his death; the reason is for she is afraid that perhaps her previous husband may

return and everyone will know that he did not die. Therefore by nn°» she is very
meticulous. However by 1w, she is not that concerned if her husband returns, for even if he
claims that he did not divorce her, people will not be sure that it is true. Especially since the
woman claims (and two 0°7¥ support her contention) that he did divorce her. Therefore since she

'3 See previous footnote # 13.
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is not that concerned, there is no &201°m1 Xp**7. This leaves us only with the vk nw& npm. Why
therefore do we permit her to remain with the new husband?!

mMooIN anticipates a possible answer, and rejects it:

— ¥ntm) NN NYYA 2393 KIYWT NYINI 9019 NN NN
And she is not believed to claim that she was divorced, for not in the presence
of her husband, a woman is indeed very brazen. There is no reason to believe her.

Mmoo adds an additional point:

— DVYNI NYN NY YN NPT OOTY NIINT NI Yy
And furthermore, in a case where there are 07V who are assisting her and
supporting her claim that she is a divorcee certainly she is brazen. She is only
believed when she says I am divorced, in the presence of her husband; for a woman does not
have the 71vn to claim in the presence of her husband that she is divorced, unless it is true.
However not in the presence of her husband and especially if other 2>7v support her, a woman
has the 71¥77 to claim that she is divorced even if it is not true. Therefore we cannot believe her
statement that she is divorced. There is also no X201m1 Xp*7 in the case of w1 Seemingly

there only remains the X nwX npti. The woman should not be permitted to remain with her
husband.

N1B0IN answers:
— YN NYUN NPTN XY RO 597 1I¥547 91215 )

And one can say that concerning this issue; whether she can remain with her
new husband, she is meticulous and she weakens the @ @R nP1m; the reason for
this is —

— DA DIZDD? IN 1T NIV AN 2T
For she is always concerned that perhaps her supporting 0°7v will be amn» or

invalidated by being accused that they are 2°1%73. She will have nothing to fall back on,
since there are 0°7v who claim that she was never divorced. Therefore she is X201°21 XjP*°7.

mMooIn has one final question:

'8 There is a rule that if a woman declares in the presence of her husband, that she is divorced; the woman is
believed. There is a 1111 that a wife will not be that brazen to her husband’s face. If she claims she is divorced, we
assume that she is. M9 is noting that in this case we cannot say that here too the woman herself is believed that
she is divorced, and that her statement counteracts the w°X nwX NP1 (just as in a regular case where a wife says to
her husband 1nwA3)

7 Mmoo may be saying that even if the husband appears and she claims in his presence that she is divorced,
nevertheless in this instance she cannot be believed.
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— NP MY DUNI NN NI NP INM Y9N 9 92 PamINAT P15 NDT INNY 9NN ON)
And if you will say when the X773 did not yet know that we are discussing a
situation where she claims ‘I am sure that he died’:" before we came to that
conclusion and we thought that the woman has no opinion as to the status of her
husband why does the X711 state as a challenge, that how can she remarry ‘she

herself needs to bring an "»n awNR’; why does the X3 say that; since she does not know
the status of her husband -
— NP NNVNA 991 NYY MN

The X713 should have stated she has to bring a nXwr? 3299. According to Mmoo our
X210 maintains that 30 >0 is a 13277 X200, However X717 we follow the 7217, In this case
of M "1n, the woman is WX nwX npin2. Therefore if she does not claim °2 °73, then she is NP2
WX NWX and is required to bring a XYM 127P; not an »>n QWK!

nv0IN answers:
— NIIINT NP0 11N 290 2997 90N 192N 19997 990 v

And one can say that the challenge of the X711 is even if we were to assume

that >any 590 is a PE® 77N, If we assume that ™M "0 is a XNMIRT XP*00, then we do not
follow any mpim, but rather it is left as a poo. If it is a Xn»7IRT K00, then it is understood why
the X723 cannot claim that she should bring a nXvri j27p. A nXvn 127 is brought only if one
certainly transgressed an XN»7X7 MOX, but not if one is doubtful whether he transgressed an
RN»7IRT 70°X as in our case where it is merely a XN™IIRT XP*50.

— NP OUNI ’°m‘.m D91 (x nnNn M1 RN 97 oY) PHN 7T P92 NYWIN9T

As I explained in 1’8 '7 P92, nevertheless even if it is only a Xn™71X7 X900 she is
required to bring a ™2n AWK 1277 for (perhaps) transgressing a MO po0.

INYID (px nnnn 278,13 97 129N TIINND PN)
And there is no need to elaborate any longer, and I explained it at greater length
in n121n> noon.

SUMMARY

In a case of n"n, the ruling 777 11 is, that we follow the P11, whether there is a
An° NP oor a MR NP1, The 0101 however instituted that even if there is a npPIn
a0, it should still be treated as a poo. If the issue is a Xn»MXT, we go Rn? if it is
a 1127, we go RpY.

'8 Seemingly it should read 'nmx2’.

19 See ox1 71"7 2,9 A7 MO

0 mpon may be alluding to the issue whether an "?>n owx is brought only when XM0°X PIAn’K.
9
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We follow a X2 M0°Kk npi only if the 7P is not compromised; otherwise it
remains (only) a Po0.

The P17 of X201 XpP™7 AWK applies (even) by M °7n; and even by a n"in of
w7°A it 1s sufficient to allow her to remain with her (current) husband.

THINKING IT OVER

1. In our XM we say that the son has the mIw3 npin from his father the 3715.%'
Seemingly there is no connection; the father may be a w> 375 who married a
7w1,>* thereby disqualifying the son from the 7117,

2. It is not clear what moon is adding by citing the X3 in m»n2°.>* Seemingly
until now we also assumed that n"1n is a 731277 X>°90; otherwise (if it were a Xp°90
Xn»7K7), we would not follow the 7pmi. nvoIN should have merely stated the
difference between our X713 and the case of *X1° in PYY7P NOOA.

3. Mmoo explains that in our X713 the son is permitted to eat (only) 11217 AN,
In a case of a 131277 (P50) then by 3 "n we follow the n°7 npin. It seems from
mooiIn that if there would not be a °n°7 npin, then he would be 70X in this 717N
13207 for he is a 9711 poo. The general rule is that by a 11277 P90 we are lenient (even
without a nprn 1n°7), Why is it necessary here to rely on the an>1 npm?*°

4. moown has a difficulty with the ruling that if X¥n X% 2°7¥ W2 2"nXY nXwa. It
seems that mooin is asking the question according to *"2n.>” However the question
can certainly be asked according to the p"n as well for they maintain that in
all cases X9 x¥n.*®

2 See footnote # 1.
2 A 3715 who marries a w173 is still a 7w3 372, even though his children are a*55m.
# See (N 7"72) 2",
# See footnote # 6.
5 See footnote # 9.
% See X2 NI 7"0.
7 See footnote # 11.
% See X"wnmn and bW 1.
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